XYZ,,=109.84, 99.99 , 35.58 Yan=[Y-50]/50

1-69 1 69! 96Y,
& =2 (X=x,) 13

bz byolz/y

8,=1, b,y =-04 57G

%= 0,110, B = 2,500 &

Cugo=[A B2 53G;

6 OstwaldFarben (o)

von maximalem (m)C,g im
linearen Farbenraum (Cyg . Y)
Lichtart ACO, ¥,,=100 Y,=0 4By .
Name Bereich X, s
R, 579_775 7904 43.12 i b 0aabs a6 45p
Vi 504775 1044598 24 0515 04731581 474
G, 504579 24.75 53.05 236 03087 0.6617 547 SHVE

1
1
1
1

C, 380579 30.12 57.07 35.54 0.2454 0.4649 499 605 Parameter:
B, 380504558 421 3325 01297 00978474 581 Y & Name
M, 579504 85.31 47.14 33.29 05147 02844 547C547 i
579
W,,380_775 109.698.99 35.58 04475 04074 100% Lichtart AGD
N3B0 77501 005 003 04473 0.4072 0% Y,,=100 Y, =0

7, 380_775 1977 17.99 6.4 0.4475 0.4074 18%
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